
˗;& 5Zpe
˗&S 5Zpe

1PsiUiPOiOH�)PMe

˔"ir Gripper

˔HiHh riHiEitZ anE hiHh accVracZ reali[eE
CZ the Vse PG the linear HViEe

˔GrippinH at the lPnH pPint is aWailaCle� 

˔8ith a hPllPX hPle

˔$enterinH "ccVracZ

ʶ0�05 mm Pr less

˔3epeat "ccVracZ

ʶ0�01 mm Pr less

˔8ithstanE -PaE


8ithstanE .Pment

HP15Series

Parallel 3�'inHer Gripper

7BriPVs�.PVOUiOH�SXiUDIes

)BMMPX�)PMe

1PsiUiPOiOH�)PMe

)iHI�"DDVrBDZ�-iOeBr�(ViEe
239

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙*nternal StrVctVre %iaHram

˙ .PEel $PEe /P�

16：16mm

20：20mm

25：25mm

HP15 16 C ˞

A：1m

B：3m

ZE135 A 2

ParUT -iTU

/0

�

�

3

�

�

�

�

�

�

��

��

��

�3

��

��

��

/aNe .aUerial

��

������

� �� 3 �� ���� ��

���

�3

4erieT /aNe

#Pre 4i[e

"DUiPn 5Zpe

C : Double Acting

/VNCer PG 4XiUDIeT

4XiUDI -eaE 8ire -engUI

1:1 Switch

2:2 Switches

˔4XiUDI 5Zpeɹ/P $PEe� /P 4XiUDI

●Switch details→P.521～528

2 Wire System Solid State Switch, Straight Type

;&�3� &4�3

3 Wire System Solid State Switch, Straight Type

;&��� &4ʢPʣ��

2 Wire System Solid State Switch, L-shaped

;&�3� &4�3

3 Wire System Solid State Switch, L-shaped

;&��� &4ʢPʣ��

Main Body

Head Cover

Piston Rod

Magnet

Pressure Cover

Action Lever

Fulcrum Pin

Knuckle

Roller

Locating Snap Ring

Hexagon Socket Head Bolt

Bearing

O Ring

Packing

Packing

Packing

Aluminum Alloy

Aluminum Alloy

Stainless Steel

Rubber

Stainless Steel

Carbon Steel

Carbon Tool Steel

Stainless Steel

Carbon Steel

Carbon Tool Steel

Stainless Steel

Stainless Steel

NBR

NBR

NBR

NBR

˙SpecipcatiPns

˙"llPXaCle -PaE anE "llPXaCle .Pment

PrPEVDU
.aTT
ʦgʧ

Gripping FPrDe
ʦ/ʧ

.iniNVN
0peraUing
PreTTVre
ʦ.Paʧ

#Pre 4i[e
ʦNNʧ.PEel

0VUTiEe %iNenTiPnT
	% Y -

ʦNNʧ

"DUiPn
5Zpe

Note 1) The grip force is an effective value when the grip point L is 30 mm and the pressure is 0.5 MPa. 

Note 2) The outside dimensions indicate the main body dimensions. (Excluding the lever)

Note 3) The opening/closing stroke is a reference value. Values in the parentheses are measured values. 

170

306

580

3

5

7

8

16

29

0.25

0.2

0.15

16

20

25

)P��-��$

)P��-��$

)P��-��$

48×48

64×58

80×72

%PVCle

"DUing

FlViE

.aYiNVN 0peraUing PreTTVre

PrPPG PreTTVre

0peraUing 5eNperaUVre

-VCriDaUiPn

Pipe #Pre

.aYiNVN 0peraUing $ZDle

$enUering "DDVraDZ

3epeaU "DDVraDZ

"ppliDaCle 4XiUDI

ʦ.Paʧ

ʦ.Paʧ

ʦˆʧ

ʦ$ZDle�Ninʧ

ʦNNʧ

ʦNNʧ

Air

0.7

1.05

0～60 (No Freezing)

Not Required (Required for sliding parts of the machine)

M5×0.8

180

±0.05

±0.01

ZE, ES Type (Solid State Switch)

)P��-��

)P��-��

)P��-��

50

120

200

0.4

1

1.5

0.4

1

1.5

0.8

2

3

.PEel

-PaE anE
.PNenU

.$

F9

.#

."

F9

ʦ/ʧ
."

ʦ/ɾNʧ
.#

ʦ/ɾNʧ
.$

ʦ/ɾNʧ

（3.1～4.4）

（5.1～6.7）

（6.1～8）

0pening�
$lPTing
4UrPLe

ʦNNʧ/PUe
3

/PUe
�
/PUe
�

240

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

Parallel 3 attachment Gripper

HP15 Series

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙SpecipcatiPns

˙"llPXaCle -PaE anE "llPXaCle .Pment

PrPEVDU
.aTT
ʦgʧ

Gripping FPrDe
ʦ/ʧ    

.iniNVN
0peraUing
PreTTVre
ʦ.Paʧ

#Pre 4i[e
ʦNNʧ.PEel

0VUTiEe %iNenTiPnT
	% Y -

ʦNNʧ

"DUiPn
5Zpe

Note 1) The grip force is an effective value when the grip point L is 30 mm and the pressure is 0.5 MPa. 

Note 2) The outside dimensions indicate the main body dimensions. (Excluding the lever)

Note 3) The opening/closing stroke is a reference value. Values in the parentheses are measured values. 

170

306

580

3

5

7

8

16

29

0.25

0.2

0.15

16

20

25

)P��-��$

)P��-��$

)P��-��$

48×48

64×58

80×72

%PVCle

"DUing

FlViE

.aYiNVN 0peraUing PreTTVre

PrPPG PreTTVre

0peraUing 5eNperaUVre

-VCriDaUiPn

Pipe #Pre

.aYiNVN 0peraUing $ZDle

$enUering "DDVraDZ

3epeaU "DDVraDZ

"ppliDaCle 4XiUDI

ʦ.Paʧ

ʦ.Paʧ

ʦˆʧ

ʦ$ZDle�Ninʧ

ʦNNʧ

ʦNNʧ

Air

0.7

1.05

0～60 (No Freezing)

Not Required (Required for sliding parts of the machine)

M5×0.8

180

±0.05

±0.01

ZE, ES Type (Solid State Switch)

)P��-��

)P��-��

)P��-��

50

120

200

0.4

1

1.5

0.4

1

1.5

0.8

2

3

.PEel

-PaE anE
.PNenU

.$

F9

.#

."

F9

ʦ/ʧ
."

ʦ/ɾNʧ
.#

ʦ/ɾNʧ
.$

ʦ/ɾNʧ

（3.1～4.4）

（5.1～6.7）

（6.1～8）

0pening�
$lPTing
4UrPLe

ʦNNʧ      /PUe
3

/PUe
�
/PUe
�

241

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



.ain #PEZ .PVntinH .ethPE

8Ien UIe UIrPVgI-IPle PG UIe Nain CPEZ iT VTeE1

8Ien UIe NPVnUing TDreX Pn UIe CaDL TiEe PG UIe UIrPVgI-IPle iT VTeE2

PPTiUiPning )Ple (Use this hole to determine the position in mounting.)

˙Gripper "ttachment .ethPE

)P��-��

)P��-��

)P��-��

.PEel #PlU UP Ce 6TeE
.aYiNVN 5igIUening

5PrRVe ʦ/ɾNʧ

M3×0.5

M4×0.7

M5×0.8

1.14

2.7

5.4

M3×0.5

M5×0.8

0.59

1.57

Pipe PPrU
.aYiNVN 5igIUening

5PrRVe ʦ/ɾNʧ

Pipe "ttachment .PVntinH 

When you screw in a joint or

the like into the pipe port, 

tighten it with the following

torque.

When you mount the attachment, support it with a spanner or the

like so that the levers are not rattled. See the following table for

the tightening torque of the mounting bolts. 

П��

П��

П��

.PEel
#PlU UP

Ce 6TeE
-ʦNNʧ

.aYiNVN 5igIUening
5PrRVe ʦ/ɾNʧ

M3×0.5

M3×0.5

M4×0.7

0.59

0.59

1.37

28

34

40

O

-

C

O

C

PPTiUiPning )Ple

П��

П��

П��

.PEel #PlU UP Ce 6TeE

M4×0.7

M4×0.7

M5×0.8

.aYiNVN 5igIUening 5PrRVe
ʦ/ɾNʧ

1.37

1.37

2.84

П��

П��

П��

.PEel PPTiUiPning )Ple

φ17 depth1.5
＋0.05
　0

φ21 depth1.5
＋0.05
　0

φ26 depth1.5
＋0.05
　0

˙&⒎ectiWe GrippinH 'Prce

�

���

���

��3

���

���

���

���

�� �� �� �� ��
�

���

���

��3

���

���

���

���

3� �� �� ���
�

���

���

��3

���

���

���

���

3� �� �� ��� ���

Gripping PPinU -  ʦNNʧ Gripping PPinU -  ʦNNʧ

�

�

�� �� �� �� ��

��

��

Gripping PPinU -  ʦNNʧ

)P��-��$

�

��

3� �� �� ���

��

3�

Gripping PPinU -  ʦNNʧ

)P��-��$

�

��

3� �� �� ��� ���

��

3�

��

��

Gripping PPinU -  ʦNNʧ

)P��-��$

˙GrippinH PPint -imit 3anHe

)P��-��$ )P��-��$ )P��-��$

Gripping PPinU -  ʦNNʧ

G
ri
p
p
in

g
 F

P
rD

e
 <

/
>

G
ri
p
p
in

g
 F

P
rD

e
 <

/
>

G
ri
p
p
in

g
 F

P
rD

e
 <

/
>

0
p
e
ra

Ui
n
g

 P
re

T
T
V
re

 <
.

P
a
>

0
p
e
ra

Ui
n
g

 P
re

T
T
V
re

 <
.

P
a
>

0
p
e
ra

Ui
n
g

 P
re

T
T
V
re

 <
.

P
a
>

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

-

0

$

8PrLpieDe
Gripping PPinU

242

Parallel 3 attachment Gripper

HP15 Series

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



.ain #PEZ .PVntinH .ethPE

8Ien UIe UIrPVgI-IPle PG UIe Nain CPEZ iT VTeE1

8Ien UIe NPVnUing TDreX Pn UIe CaDL TiEe PG UIe UIrPVgI-IPle iT VTeE2

PPTiUiPning )Ple (Use this hole to determine the position in mounting.)

˙Gripper "ttachment .ethPE

)P��-��

)P��-��

)P��-��

.PEel #PlU UP Ce 6TeE
.aYiNVN 5igIUening

5PrRVe ʦ/ɾNʧ

M3×0.5

M4×0.7

M5×0.8

1.14

2.7

5.4

M3×0.5

M5×0.8

0.59

1.57

Pipe PPrU
.aYiNVN 5igIUening

5PrRVe ʦ/ɾNʧ

Pipe "ttachment .PVntinH 

When you screw in a joint or

the like into the pipe port, 

tighten it with the following

torque.

When you mount the attachment, support it with a spanner or the

like so that the levers are not rattled. See the following table for

the tightening torque of the mounting bolts. 

П��

П��

П��

.PEel
#PlU UP

Ce 6TeE
-ʦNNʧ

.aYiNVN 5igIUening
5PrRVe ʦ/ɾNʧ

M3×0.5

M3×0.5

M4×0.7

0.59

0.59

1.37

28

34

40

O

-

C

O

C

PPTiUiPning )Ple

П��

П��

П��

.PEel #PlU UP Ce 6TeE

M4×0.7

M4×0.7

M5×0.8

.aYiNVN 5igIUening 5PrRVe
ʦ/ɾNʧ

1.37

1.37

2.84

П��

П��

П��

.PEel PPTiUiPning )Ple

φ17      depth1.5
＋0.05
　0

φ21      depth1.5
＋0.05
　0

φ26      depth1.5
＋0.05
　0

243

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



HP15�16$˙%imensiPns HP15�20$˙%imensiPns

$"% EaUa prPWiEeE

Depth 4

Through-Hole

Depth 2
Depth 1.5

(Positioning Hole)

(Positioning Pin)

Depth 6

Lower Hole φ3.2

When opened：13.4
When closed ：10.3

＋0.7
　0
　0
－0.6

Through-Hole

（Closing Port）

（Opening Port）

244

Parallel 3 attachment Gripper

HP15 Series

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



HP15�20$˙%imensiPns

Depth 5

Through-Hole

Depth 3Depth 1.5
(Positioning Hole)

(Positioning Pin)

Depth 6

Lower Hole φ3.2

When opened：16.9
When closed ：11.8

＋1.0
　0
　0
－0.6

Through-Hole

（Closing Port）

（Opening Port）

245

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



HP15�25$˙%imensiPns

Depth 7

Through-Hole

Depth 3Depth 1.5
(Positioning Hole)

(Positioning Pin)

Depth 8

Lower Hole φ4.2

When opened：20.5
When closed ：14.4

＋1.1
　0
　0
－0.8

Through-Hole

（Closing Port）

（Opening Port）

246

Parallel 3 attachment Gripper

HP15 Series

H
P

1
5

 S
e
rie

s
P

a
ra

lle
l 3

-F
in

g
e
r G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk


